15 8%, ek ke
N AN = A S =
15 B2 B K OME
219. 1BZ NA R GRE B (ERFE %)
KA H 2 H BLLE (BT A)
N7 > N7
PR (5 H12) Sk 19 A SOk 24 F
5 S 5 S
i i 40,407 19,641 20,766 44,230 21,509 22,721
/I &t 6,850 3,371 3,479 8,918 4,390 4,528
5 i 1,404 717 687 1,462 753 709
JEE 7 757 390 367 788 400 388
% b3 i3 % 371 183 188 438 219 219
1 4 -2 B 532 247 285 557 265 292
Ei’e 4y E 1,506 748 758 1,669 845 824
=R S B3 695 337 358 711 337 374
X OB 4 H 441 200 241 497 235 262
BesHEeEfES 243 107 136 243 98 145
Tav T =LA 277 140 137 309 152 157
w2y v 624 302 322 2,244 1,086 1,158
/h it 7,828 3,875 3,953 8,429 4,174 4,255
H 1 1,667 818 849 1,833 896 937
T Bl # 1,707 848 859 1,819 894 925
% 4 -2 Hh 1,147 609 538 1,228 655 573
2 M e 220 113 107 225 112 113
Ei'e WA 5 201 108 93 215 119 96
Ed 3 J=S i3 753 369 384 778 390 388
X + M 635 308 327 731 356 375
R Fn = 1,103 525 578 1,179 563 616
S M 28 E 240 100 140 254 106 148
T, 2 I 155 77 78 167 83 84
/I &t 8,040 3,896 4,144 8,759 4,214 4,545
. 5, b9 2,553 1,247 1,306 2,511 1,238 1,273
% H e 745 359 386 895 416 479
3 + m 1,249 618 631 1,313 644 669
Ei'e = 3 850 429 421 875 436 439
= k= a8} il JIl 1,175 560 615 1,302 630 672
X B r I 1,021 483 538 1,143 519 624
[ N A = R 278 117 161 261 117 144
H = 169 83 86 459 214 245
/h it 7,334 3,498 3,836 7,741 3,721 4,020
] %7 662 315 347 656 311 345
B ES % 1,962 968 994 2,264 1,108 1,156
% i 7= s 1,245 609 636 1,280 620 660
4 VAR AN 239 107 132 256 122 134
Ei'a AT —HF AN A 643 319 324 599 291 308
= = SO - i - 567 264 303 534 269 265
X fii =2} r Ji 387 180 207 453 219 234
= e 226 111 115 217 109 108
[ N ] ﬂﬁ 586 243 343 587 247 340
B = 2 — 57 v 817 382 435 895 425 470
/h B 5,610 2,751 2,859 5,830 2,851 2,979
(3 b3 (A) 767 398 369 810 414 396
4 J=8 524 223 301 566 250 316
R e 804 404 400 899 434 465
% A P 1,385 684 701 1,410 705 705
5 VAR AN 318 163 155 324 164 160
Ei'a XTI —HF A KA 14 6 8 17 8 9
= - — F v 7 115 54 61 102 48 54
ES 4 % s I 157 76 81 133 61 72
A AN 4 234 111 123 219 98 121
] S = 347 167 180 364 173 191
R AH 73 36 37 76 37 39
BH = o= 872 429 443 910 459 451
aN it 4,745 2,250 2,495 4,553 2,159 2,394
] 55 676 327 349 842 404 438
Ria J=S 785 378 407 950 460 490
= it i3 (A) 3 1 2
6 Bt b3 (B) 84 40 44 78 43 35
1 [ 97 i 474 233 241 466 231 235
by &R HoopE 452 227 225 432 209 223
E B i) 358 165 193 408 190 218
B B R I 218 97 121 129 60 69
BOA OB M (A) 549 231 318 1 1 0
&R IR H (B ) 445 216 229 531 240 291
2R sk [ s (C) 704 336 368 713 320 393
CORT - T B PR Ze B2 S Iy
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220. AHEEEDOHERS

BAEJE 49 H 2 B BIE (BT )

® g A 2} E = R % X iR
Ee| 1 HE O %
Rk 20 4EE 56,077 41,289 20,108 21,181 882
21 57,001 42,087 20,489 21,598 798
22 58,084 42,710 20,810 21,900 623
23 58,956 43,645 21,228 22,417 935
24 60,004 44,230 21,509 22,721 585
A A DX B 12 A REHEOHKM CTh D, B TREEEEESFER
221. BEHI TR
(BAN7: N, %)
S T %Fﬁﬁﬁﬁ ”&%%g \'4& =g oy |
NaE AR RS 9 % #
<HE>
SRk 10 429 H 20 H 33,583 16,415 24,954 11,859 74.31 72.24 76.28 1 2
SRk 1449 A 22 H 36,026 17,574 26,486 12,603 73.52 71.71 75.24 1 2
Sk 184510 H 15 H 38,911 18,894 22,314 10,590 57.35 56.05 58.57 1 4
SRR 22 4 10 H 10 H 42,158 20,511 21,913 10,510 51.98 51.24 52.68 1 3
<MmBE=EBEBE>
Rk 1542 A 23 H 36,411 17,767 21,127 10,040 58.02 56.51 59.47 24 28
Rk 194 2 H 4 H 39,313 19,084 22,775 10,764 57.93 56.40 59.38 24 28
SRR 2342 H 13 H 42,536 20,722 21,726 10,413 51.08 50.25 51.86 24 26
<BHmE>
Rk 14411 A 17 H 36,590 17,866 19,674 9,359 53.77 52.38 55.09 1 4
SRk 184 11 H 19 H 39,347 19,105 24,217 11,467 61.55 60.02 62.99 1 3
ok 224 11 H 28 H 42,600 20,735 25,161 12,058 59.06 58.15 59.93 1 3
<RBE2EZE>
SRk 16 426 H 6 H 37,279 18,149 20,930 10,017 56.14 55.19 57.05 2 4
SEpk 20 - 6 H 8 H 40,427 19,667 20,407 9,910 50.48 50.39 50.56 2 3
SRk 24 46 H 10 H 43,447 21,078 19,580 9,446 45.07 44.81 45.30 2 3
<KEBEEBER ( BEX) >
R 154 11 H 9 H 37,265 18,168 19,703 9,588 52.87 52.77 52.97 1 3
SRR 1749 A 11 H 38,491 18,732 23,063 11,030 59.92 58.88 60.90 1 4
Sk 21 428 H 30 H 41,937 20,402 27,287 13,312 65.07 65.25 64.89 1 3
<zBERHER (8%X) >
SRk 16 427 A 11 H 37,651 18,356 19,756 9,499 52.47 51.75 53.16 1 2
Rk 1947 H 29 H 40,127 19,497 23,595 11,339 58.80 58.16 59.41 1 2
SRR 2247 H 11 H 42,465 20,683 21,867 10,583 51.49 51.17 51.80 1 4

R TR A B R F R
T BAMER R, AL R OOD | BT P OB THREIREN TID AL LIz
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222. Hal Bl m EB K
FAEIEAE R (3 7 oK) 87F (BT AN)

(ER 1l VRIS | FRI9FE PR205EE | RIS FE 224 B
o R % 403 311 311 301 304
/O I ) 44 43 43 40 40
" OB h 29 28 28 26 28

W 24 22 22 22 22
i I N ) 30 30 30 30 29
C 27 27 27 27 27
Z S A ) 24 24 24 24 24
UL B ) 27 30 30 28 30
i A ] 23 24 24 22 24
5 5 F i 84 33 33 34 34
Hod & 28 28 28 26 26
EZIE S 63 22 22 22 20

G : P SR R R IR A
T RRISAE4A A 1R . Bt (FEIAt, Akt T, KEAEGOE .

223. TR B2
FARILAE TR (3 A R) HAE (AL N)

g | | Do [T S D E | am | mase | e
RO 23 0 0 1 5 1 0 16
20 22 0 0 1 5 1 0 15
21 22 0 0 1 5 1 0 15
22 19 0 0 1 5 1 0 12
23 23 0 0 0 5 2 1 15

HRL AR
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224. FEHR BT EEH A
KAEFE12 ] R BTE (AT N)

BoOAE K 9515~ | 3085~ | 4085~ | 5085~ | 601%
LEE/ 4 T
B S N e e s s .
E=E |5 295% | 395% | 49%% | 59 | DL E
R 20 4R 24 22 19 86.4% 3 13.6% 0 0 3 7 12
21 24 22 19  86.4% 3 13.6% 0 0 3 7 12
22 24 19 16 84.2% 3 15.8% 0 0 2 5 12
23 24 24 21 87.5% 3 12.5% 0 3 6 6 9
24 24 23 20 87.0% 3 13.0% 0 3 3 9 8

T R R

225. BRI # B
4473612 ) RBUE (HEfiz: \)

F W B ¥ T¥% [ES =ttR | FRIRE | Sttt | 2ofs
Foopk 20 4R 22 2 0 1 1 0 2 16
21 22 2 0 1 1 0 2 16
22 19 2 0 1 1 0 2 13
23 24 4 0 0 1 0 0 19
24 23 4 0 0 1 0 0 18
TR AR

226. A HEZ B2 PilfE H K

(HAL: H)

ES o2 k204 FR214E FRk224F TR 234F Fk244F
oL £ B & 87 94 114 107 85
woB M B 23 23 26 24 19
H OB R A 16 20 22 18 15
(S < 3 14 15 21 25 16
ol £ B = 16 16 24 16 16
ESBECN T S 2 4 2 0 0
z » il 16 16 19 24 19

EEL R TR

(p168)224~226.xIs
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227. thige

DIEE R

15 jEE%E,

(BAZ: 8L 1)

X 3 A% 204F SRR 214F Rk 224F SRR 234 SRR 244F
S g 7 6 6 9 6
4 8] % E Bl = 4 4 4 4 4
e F = 3 2 2 5 2
S g 63 66 62 84 84
e IS I E Bl & 60 64 60 79 82
e = 3 2 2 5 2
e g 24 23 23 26 22
= A=k E Bl = 21 21 21 21 20
e F = 3 2 2 5 2
B g 136 130 131 133 131
/N B 120 106 112 115 112
1] S 31 34 33 38 37
&
=)
- e o 9 10 10 10 8
=559 Hj
%
= | = E 22 22 26 19 25
& Z D 58 40 43 48 42
/N B 16 24 19 18 19
¥ . & #l 0 1 0 1 0
" ik
% 21 | 0 0 0 !
s o
2 A E 10 19 14 8 11
ES L
w i 5 4 5 9 7
Z D i 0 0 0 0 0
iH JiE 1 2 2 1 1
BT - OGS 25 23 21 33 13

HE R FEER

i KO H
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228. TP B OHER

it O H

VRRASELLRNES A 1 A BIE

KSR LAREIF4 H 1 H BUE (AL AN %)

196

(FB) ¥ 13, AT, BHEZE S, HBIARES., KEHZE T,
AN BT, BEHLIH RKBAIETHD,

gk = 5 o
R " P HEE | Y0
[ #t AL

WEAFN 524F i 28,617 223 125 56.1 98  43.9 20 128.3
53 29,887 247 133 53.8 114 46.2 24 121.0
54 31,620 249 133 53.4 116 46.6 2 127.0
55 32,597 268 149  55.6 119 44.4 19 121.6
56 33,800 287 168 58.5 119 415 19 117.8
57 34,937 297 177 59.6 120 40.4 10 117.6
58 36,033 303 182 60.1 121 39.9 6 118.9
59 36,632 319 195  61.1 124 389 16 114.8
60 37,809 316 193 61.1 123 38.9 A3 119.6
61 38,799 328 204 62.2 124 378 12 118.3
62 39,484 329 209 63.5 120 36.5 1 120.0
63 40,404 339 216 63.7 123 36.3 10 119.2
TR 41,007 339 216 63.7 123 36.3 - 121.0
2 41,505 337 214 63.5 123 36.5 A 2 123.2
3 42,030 342 220 64.3 122 35.7 5 122.9
4 42,784 354 227  64.1 127 35.9 12 120.9
5 43,316 360 233 64.7 127 35.3 6 120.3
6 44,367 380 250  65.8 130 34.2 20 116.8
7 45,271 374 246 65.8 128 34.2 A 6 121.0
8 46,600 377 247  65.5 130 34.5 123.6
9 47,786 380 250  65.8 130 34.2 125.8
10 48,336 389 257  66.1 132 339 9 124.3
11 49,205 386 250  64.8 136 35.2 A3 127.5
12 49,718 389 252 64.8 137 35.2 3 127.8
13 50,019 404 262 64.9 142 35.1 15 123.8
14 50,652 420 273 65.0 147 35.0 16 120.6
15 51,436 412 265  64.3 147 35.7 A 8 124.8
16 51,835 399 259 64.9 140 35.1 A 13 129.9
17 52,546 384 253 65.9 131 34.1 A 15 136.8
18 53,226 376 252 67.0 124 33.0 A 8 141.6
19 54,025 376 251 66.8 125 33.2 - 143.7
20 55,038 375 252 67.2 123 328 Al 146.8
21 56,050 370 251 67.8 119 32.2 A5 151.5
22 56,867 369 255  69.1 114 309 Al 154.1
23 57,957 375 266 70.9 109 29.1 6 154.6
24 58,794 376 269 715 107 28,5 1 156.4
Rk N




15 5%, Bk ORE

229. X 77 BNk B2 OV )4 e
ERR244E4 A 1 HBE (AL AL %, %)

==}

CESSES WA | TR — “
I I
b b1y 375 39.2 268 71.5 107 28.5
0 % H 54 36.1 45 83.3 9 16.7
( - £ %= ) 1 X 1 100.0 0 0.0
b5 % E 10 35.6 8 80.0 2 20.0
(= 4 44.3 4 100.0 0 0.0
A %= E: 8 35.8 6 75.0 2 25.0
2y B 3 7 34.3 6 85.7 1 14.3
i % E 13 35.7 11 84.6 2 15.4
W B E 11 33.8 9 81.8 2 18.2
1= [E] H 23 37.4 21 91.3 2 8.7
( ® & %= ) 2 53.0 2 100.0 0 0.0
W\ o G 10 35.1 9 90.0 1 10.0
HoOL e q 7 34.9 6 85.7 1 14.3
& BB % 3 4 40.0 4 100.0 0 0.0
m R B OE H 51 38.8 26 51.0 25 49.0
( ® & %= ) 1 X 1 100.0 0 0.0
W o F b HE G 6 34.0 4 66.7 2 33.3
i B 3 8 39.3 3 37.5 5 62.5
e B OHE O F 9 39.1 3 33.3 6 66.7
" £ & 7 21 38.7 9 42.9 12 57.1
A R OBE G 6 40.0 6 100.0 0 0.0
& Ein H 60 39.5 25 41.7 35 58.3
( W & %= ) 1 X 1 100.0 0 0.0
T =/ Ak 3 10 39.7 8 80.0 2 20.0
B2 W £ F G 16 35.9 7 43.8 9 56.3
Bo® F E G 33 40.7 9 27.3 24 72.7
RO OB OROE 41 39.1 40 97.6 1 2.4
( - £ %= ) 1 X 1 100.0 0 0.0
F S = S T 15 40.4 14 93.3 1 6.7
B % B 11 38.4 11 100.0 0 0.0
=S C R C 5 37.4 5 100.0 0 0.0
=k ok E G 9 36.9 9 100.0 0 0.0
7K B B 23 45.4 19 82.6 4 17.4
( ® £ %= ) 1 X 1 100.0 0 0.0
N % E 7 43.6 4 57.1 3 42.9
it 34 B 8 46.9 8 100.0 0 0.0
T ok & F 7 441 6 85.7 1 14.3
N 193] 50 38.2 50 100.0 0 0.0
B % 7 5 42.6 5 100.0 0 0.0
% 193] E: 3 46.3 3 100.0 0 0.0
it 1957 7 4 47.8 4 100.0 0 0.0
H b5 Z 37 35.4 37 100.0 0 0.0
£ e 5 46.2 4 80.0 1 20.0
o F B R 4 43.0 3 75.0 1 25.0
= it 4 38.3 1 25.0 3 75.0
ES F i 3 31.3 0 0.0 3 100.0
E X EHEEER 2 48.0 2 100.0 0 0.0
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(Do)

BT AR A BREEC | PRI - 3
a A | Mt N | MRkt
BE rx B ¥ R 3 52.0 3 100.0 0 0.0
B ¥ F ¥ B 2 56.5 2 100.0 0 0.0
# B % A = 57 39.3 30 52.6 27 47.4
2 R #H# F W 43 39.4 17 39.5 26 60.5
( ® £ %= ) 1 X 1 100.0 0 0.0
EN I 30 38.5 6 20.0 24 80.0
E I T 9 37.7 7 77.8 2 22.9
TGRS — 3 48.7 3 100.0 0 0.0
2 E ¥ B OB 14 38.9 13 92.9 1 7.1
( ® £ = ) 1 X 1 100.0 0 0.0
EE e IR B 8 35.5 7 87.5 1 12.5
B's 1k E 3 42.0 3 100.0 0 0.0
o+ fiF 2 37.5 2 100.0 0 0.0
(2PN =
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